Pre-Calculus Parametric Worksheet Name_ Kc\\ _________________ ——

1. Write parametric equations that will give you the following:

a) A circle with radius of 20 and center at the origin.

X = 20¢cosSt
b) A circle with radius of 20 and center that has been moved to the right 10.

X=20c0st +\0
= 20§ing

c) A circle with radius of 20 and center that has been moved dovsj 10.

X = 20005t
¥= 205int—10 .
d) A circle with radius of 20 and center that has been moved to the left 10 and down 5.

x=20¢cost -10
\|=ZDSinb* 5

2. If you are going to graph one of these on your calculator, what should the t min and t max be? (In radians

and dcgtccs) . enthrecircle
Radwans: Tmin:0 Degrees: Tmin'0

Tmax A\ Tmax: 3hb

3. What does the t step do? How do does it affect your graph?

Determines lhow often a point is calwlated.

Ne SMaller tne Tsrep +he more acavate
ne carap\r\.

4. Graph each of the above. Make sure you see the complete circle, Be sure to check all your settings (t min, t
max, t step, etc.)

O\

5. Write an equation for the problem situation. An arrow is shot up (from the ground) with an initial velocity of
205 ft/sec at an angle of elevation of 48°. (Don’t forget about gravity)

x=205 w48t
\{ = 205““(48){; —‘Utz
’(.gr&\l'\h‘




6. Write an equation for the situation above but now the arrow is shot from 4 ft above the ground.

X= 205 C0S (48)t
\= 205 $in (48)t - et” +4

1 Write an equation for the same arrow (still shot from 4 ft above the ground) but now there is a wind blowing
agalns) the arrow at 8 fi/sec.

speed amuiipiy by ¢
X = 205¢0S (48)t -8%¢

N= 205 $In (48)t -lut® +4

8. What does the t represent in these equations?

time

9. Do you need to pay attention to the t setting when you graph these? Why?

NeS, soOU get an acwvate graphin
Its entirety.

10, Write an equation that would create a vertical line 12 units tall at x = 400,
= 400 :
E' - l+2T (T - (0) N Qq)\Aa‘hOV' d'@P%dS
i ON Tmax.

11. Suzy hit a baseball with an initial height of 4 ft, initial velocity of 114 ft/sec at an angle of 39"

a) Write an equation to represent the problem.

X = |14 cos(2a)t ,
= 4 sin (2a)t LU+

b) If she hit it to straight away center field, would it make it over the wall if 1t 1s 400 ft from home plate and

12 ft tall? See # |0

NO(»)

c) If there was a breeze blowing directly with the path of the ball at 7 ft/sec. Would it clear the wall then?

x =(i4cos(3)t +7¢
Samée
) Nes @

wo\\




